
CBCCS) Odd Semester Exam., 2018

PHILOSOPHY
RANA

1st 8emeater

sc No. PHIGEC-101T/PHPDSC-101T

Logle

Full Marks : 70
Pass Marks: 28

Time 3 hours

The figures in the margin indicate full marks

for the questions

Answer all questions

UNIT-I

I. Answer any fourquestions
1x4-4

(a) The word Logic' is derived from which

Greek word?

b) What kind of science Logic is?

c) Logic is concerned with both formal truth

and material truth." Is this statement true?

(d) Can validity or invalidity be predicated of

d)
proposition?

e) What do you
mean by the term 'validity'?

(Turn Over)

the term 'validity'?

(e)
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UNIT-III

4. Answer any four questions

a) How many terms are there
proposition?

a

(hl What is the symbol of universal negative
proposition?

c) Give a symbolic example of particularaffirmative proposition.

d) Which term is distributed in particularnegative proposition?
(e) lustrate class-membership ropositior
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Or
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UNIT-III

1x4-4

Answer any four questionS

a/ What is immediateinference?

b State onérule of conversion.

Ic) Convert the
statement,

"No men are
"No men are

perfect. n the
ld) How manny valid

moods
are

there in

Third Figure?

e) NameName one valid mood ofFirst Figure.
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) Contraposc the statement, 'No reptiles are
warm blooded animals."

form categorical9. (a)
What is standard

rules of
categorical syllogism

fallacies arising out or violation of

syllogism?
State Copi's six

and name the

these
rules. 2

Or

(b) Test the validity or invalidity of the
following arguments by means of Venn

diagramtechnique:

i) Some reformers are philosophers, so
some idealists are philosophers, sinceall reformers are idealists.

(i) No Indians are Greeks but someIndians are Aryans, therefore, so
but Some

Greeks are not Aryans.
J9/108G
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UNIT-IV 5

r
any

our questions
1x4-441CTan

ANJA NCO
what is the symbol for negation?

What is ideogram?2 KALA 1 1HA

N, CA

What is variable?

d What is the symbol of implication?

e) If p is true, q is false, then what is the

truth value of p-q?

2
Answer any onequestion:

a) Symbolize thefollowing sentences

(i) If papers are not easy,
students will

findit difficult.

(ii) Either India will win the match or

Pakistan will

What is truth function?
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UNIT-V

13. Answerany four questions: x

(a) How many rules of inference are there?

(b) State the rule of Modus Ponens.

e) State the rule of disjunctive syllogism.
(d) State the rule of conjunction.
(e State the rule of Modus Tollens.
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